
Homework 3 Key

Synoptic discussions: 20 points

Helicity computations: 30 points



Sample of best synoptic discussions by 
the class…











Only correction here I made is that should read a Miller Type 1, the loaded 
gun type sounding, but in an environment of fairly unidirectional shear.















Sample hodograph analyses



Helicity  is 2x area enclosed 
by polygon

H = range 75- 150 m2 s-2

Not indicative of tornadoes



Helicity is 2x area enclosed 
by polygon

H = 0 to -25 m2 s-2

Not indicative of tornadoes.  
Questionable whether can 

even compute it here…



Helicity is 2x area enclosed 
by polygon

H = range 200 – 270 m2 s-2

Indicative of at least weak to 
moderate tornadoes 
(morning sounding)
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